clc, clear

| oad(' Connect');

figure(' Wndowstyle', " docked')

i mshow([ Board{1,:};Board{2,:};Board{3,:};Board{4,:};Board{5,:};Board{6,:}])
Boar d2=Boar d;

% reates a vector for the gane board

A=zeros(6,7);

%Sets the condition that "gane" is true for the while | oop

Ganme=true

%Runs the gane until someone gets four in a row

whi | e Gane==true;

%Est abl i shes who's turn it is

t ur n=0;

%Checks if it is Player 1's turn and pronpts Player 1 to insert a chip

into a valid colum

if turn==0

k=0;

Guess=i nput (' Pl ayer 1, please select a colum:");

if GQuess>7 | Quess<l
Guess=i nput (' Pl ease select a colum 1 through 7:");

el sei f Quess~=1&CGuess~=2&Guess~=3&Euess~=4&Guess~=5&Euess~=6&CGuess~=7
Guess=i nput (' Pl ease type an integer:")

el se
Guess=Cuess;

end
%l aces Player 1's chip into a non-filled colum
for k=1:6
if A(1l, Guess)~=0
Guess=i nput (' Pl ease select a columm that is not full:");
end

if A(7-k, Guess)==
A(7-k, Guess) =1;
Boar d( 7- k, Guess) ={redchi p};

i mshow([ Board{1,:};Board{2,:};Board{3,:};Board{4,:};Board{5,:};Board{6,:}])

br eak
el seif A(7-k, GQuess)==1| A(7-k, Guess) ==
k=k+1;
end
end
%Checks for verticle win for Player 1
x=1;
y=1;
for x=1:7
for y=1:3

if A(y,x)==1 & A(y+1,x)==1 & A(y+2,x)==1 & A(y+3, x)==1
fprintf('Player 1 Wns!")
Gane=f al se

el se
turn = turn+l,




turn = nmod(turn, 2);
end
end
end
%Checks for horizontal win for Player 1
if Gane==true

x=1,;
y=1;
for x=1:4
for y=1:6
if A(y,x)==1 & A(y,x+1)==1 & A(y, x+2)==1 & A(y, x+3) ==
fprintf('Player 1 Wns!")
Gane=f al se
el se
turn = turn+l,
turn = nmod(turn, 2);
end
end
end

end
%Checks for diagonal (up and to the right) win for Player 1
if Gane==true
x=1;
y=1;
for x=1:4
for y=1:3

if A(y,x)==1 & A(y+1, x+1)==1 & A(y+2,x+2)==1 & A(y+3, X

+3) ==
fprintf('Player 1 Wns!")
Gane=f al se
el se
turn = turn+l,
turn = nmod(turn, 2);
end
end
end
end
%Checks for diagonal (up and to the left) win for Player 1
if Gane==true
x=1;
y=1;
for x=4:7
for y=1:3
if A(y,x)==1 & A(y+1,x-1)==1 & A(y+2,x-2)==1 & Ay
+3, x-3) ==
fprintf('Player 1 Wns!")
Gane=f al se
el se
turn
turn

= turn+l;
= nmod(turn, 2);
end
end
end

end




%Checks for stal enate
i f Game==true
if prod(A "all"')~=0
fprintf(' Stal emate! Ganme Over!'")
Gane=f al se
end
end

end
%Checks if it is Player 2's turn and pronpts Player 2 to insert a chip
into a valid colum
if turn==1
k=0;
Guess=i nput (' Pl ayer 2, please select a colum:");
if GQuess>7 | Quess<l
Guess=i nput (' Pl ease select a colum 1 through 7:");
el seif
Guess~=1&@uess~=2&CGuess~=3&Cuess~=4&Euess~=5&Euess~=6&Guess~=7
Guess=i nput (' Pl ease type an integer:")
el se
Guess=Cuess;
end
%l aces Player 2's chip into a non-filled colum
for k=1:6

if A(7-k, Guess)==
A(7-k, Guess) =2;
Boar d( 7- k, Guess) ={ bl ackchi p};

i mshow([ Board{1,:};Board{2,:};Board{3,:};Board{4,:};Board{5,:};Board{6,:}])

br eak
el seif A(7-k, Guess)==1| A(7-k, Guess) ==
k=k+1;
el se
Guess=input (' Enter a valid number:');
end
end

%Checks for verticle win for Player 2

x=1,
y=1;
for x=1:7
for y=1:3
if A(y,x)==2 & A(y+1l,x)==2 & A(y+2,x)==2 & A(Yy+3, x) ==
fprintf('Player 2 Wns!")
Gane=f al se
el se
turn = turn+l,
turn = nmod(turn, 2);
end
end
end

%Checks for horizontal win for Player 2




i f Game==true

x=1,;
y=1;
for x=1:4
for y=1:6
if A(y,x)==2 & A(y, x+1)==2 & A(y, x+2)==2 & A(Yy, x+3) ==
fprintf('Player 2 Wns!")
Gane=f al se
el se
turn = turn+l,
turn = nmod(turn, 2);
end
end
end

end
%Checks for diagonal (up and to the right) win for Player 2
if Game==true
x=1,;
y=1;
for x=1:4
for y=1:3
if A(y,x)==2 & A(y+1, x+1)==2 & A(y+2,x+2)==2 & A(y+3, X
+3) ==
fprintf('Player 2 Wns!")
Gane=f al se
el se
turn = turn+l,;
turn = nmod(turn, 2);
end
end
end
end
%Checks for diagonal (up and to the left) win for Player 2
i f Ganme==true

x=1,;
y=1;
for x=4:7
for y=1:3
if A(y,x)==2 & A(y+1,x-1)==2 & A(y+2,x-2)==2 & A(y
+3, x-3) ==
fprintf('Player 2 Wns!")
Gane=f al se
% P=i nput (' \ nPl ay agai n? If yes, enter 1 I f no,
enter 2.');
%if P==1
% Game=t r ue;
% Boar d=Boar d2;

%
i mshow([ Board{1,:};Board{2,:};Board{3,:};Board{4,:};Board{5,:};Board{6,:}])
%

% el sei f P==2

% Gane=f al se;

% el se

% P=i nput (' Pl ease enter either 1 or 2:');




% end

el se
turn
turn

turn+l;
nmod(turn, 2);

end
end
end
end
%Checks for stal enate
i f Game==true
if prod(A "all"')~=0
fprintf(' Stal emate! Ganme Over!'")
Gane=f al se

end
end
end
end
% P=i nput (' \ nPl ay agai n? If yes, enter 1 If no, enter 2:');
%if P==1
% Game=t r ue;

%
% el sei f P==2

% Gane=f al se;

% el se

% P=i nput (' Pl ease enter either 1 or 2:');
% end

Warning: The initial nagnification of the inmage is set to 'fit
docked
figure.

Error using input
Cannot call | NPUT from EVALC.

Error in Connect Four (line 19)
Guess=i nput (' Pl ayer 1, please select a colum:"');
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